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Mahesh Public School

Rational Numbers

Class 8

Worksheet - 4

Using appropriate properties find.
2.3 5 31 ,_'2[3]|31z
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35 2 5 6 5 76 2 14 5
Write the additive inverse of each of the following.
2 s s 2 19
(U W 5 W) = ) —3 L "
Verify that - (- x) = x for.
, 11 o 13
0 x=73 i) ¥=-13
Find the multiplicative inverse of the following. )
. . —13 L1 .. -5 3
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vy =1 X? ivi) =1
MName the property under multiplication used in each of the following.
{i} 1__4_‘).:1:1;.:__4:_& {'.} I_Exi=__2x£

5 5 5 17 7 7 17
(iii) -_—'gx£=1

29 19
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Multiply — by the al of — .
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1
the multiplicative inverse of _IE ?Why or why not?

1
Is 0.3 the multiplicative inverse of 3 3 ?'Why or why not?

Write.

(i) The rational number that does not have a reciprocal.
(ii) The rational numbers that are equal to their reciprocals.
(i) The rational number that is equal to its negative.

Fill in the blanks.
(i} Zerohas reciprocal.
(i} The numbers and are their own reciprocals

(i} The reciprocal of - 51is

1
{iv) Reciprocal of ;,where x#0is

iv) The product of two rational numbers is always a .
{vi} The reciprocal of a positive rational number is .



Answers of Worksheet - 4

Question 1:

Lising appropriate properties find:
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Question 2:
Write the additive inverse aff each of the following:
2 5 =i . I
IR R R
fnswar:
2
(iy
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Additive inverse = 8
5
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| Ln

Additive inverse =
%_b
(i} 53
—_h
Additive inverse = 2
J
{Iv) 3_?
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Additive inverse Y
I‘:"_ 14
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additive inverse 6

Question 3:

Verfy that =(-x) = x for,

[ 13
I=— =——
i gy T
Answar:
11
I=—
{0y [k
! -,\'—_E H+[—%.=ﬂl
The additive inverse of ~ 1is 1505 13 4 15,
£+[_%.:ﬂ _! ﬂ
This equality ¥ 4 13 reprosents that the additive inverse of  15is 13or it
Jun
can be said that 13 lEi.:-,—t—xJH
13
¥=-—
{0 17
13 13 13 13
I=- - = —— =
The additive inverseof  1Tis  17as 17 17
|:!-+H_ 13 13
This equality 17 17 represents that the additive inverse of 17is =17 i,
~[-¥] = x
Question 4:

Findd the mulliplicative inverse of the fallowing,
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Answer:
(i -13

|
Multiplicative inverse = = 13
i
{ii) 149
[
Multiplicative inverse = 13
|_
(i) 3
Multiplicative invarga = 5
3 15
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fivy & 7 3b
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Multiplicative inversa 13

2 1
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Multiplicative inverse
(vi) -1

Multiglicative inverge = -1
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Question 5:
Mame the property wnder multiplication used in sach of the following;
4 -4 4
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i 3 5 5
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Answer:

—=xl=|x- =-|1I
i 3 5 3

1 15 the multiplicative identity,
() Commutativity
(i1} Multiplicative inverse

Question 6:

fi =7
Multiply 13 by the reciprocal ot 16,
Anzwer:
%x[ﬁminmml of —% = %:{—% = _%
Question 7

14y 4
S
f[ 3]“\3",“3

Tall what property allows you to compute
Angwar:

digociativity

Question 8:

b |

2 i
1s ¥ the multiplicative inverse of & 7 Why or why not?
Answer:
It is the multiplicative inverse, then the product should be 1.

Howaver, here, the product is not 1 as
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Question 9:
|
3-
Is 0.3 the multiplicative inverse of ¥ ? Why or why not?

dnzwier:
[ 10

}-=—
13

,1I

Here, the produet is 1. Hence, 0.3 is the multiplicative inverse of 3 |
Question 10:
Write:
{1 The rational number that does not have a recipracal,
{ii) The rational nurbers that are equal to their reciprocals.
{iii} The rational Aumber that is equal to its nagative,
Anewer:
(i} 0is a rational number but its reciprocal is not defined,
{ii} 1 and =1 are the rational numbers that are equal to their reciprocals,
{Iif} O Is the rational number that is equal to its negative.
Question 11:
Fill in the Blanks,
{i) Zero has reciprocal,
{ii} The numbers and are their own reciprocals
(I} The reciprocal of - 5 is
|
(iv) Reciprocal of £, where ¥ #{ig
{v) Tha product of two rational numbers is always a

(vi) The reciprocal of a positive rational number is .



Answer:

(i} No

(i) 1, -1
]

(i 3
{iv) x
{v) Rational nurmbser

(vi) Positive rational number



